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NEZEHUMLAT TADJIBEZA 10,749,333 10,719,827 29,506
[= 875,100 825, 100 50,000
X 330,000 220,000 110,000
Al 9,544,233 9,674,727 A 130,494
czze 10,290,627 10,261,121 29,506
[= 875,100 825, 100 50,000
X 330,000 220,000 110,000
Al 9,085,527 9,216,021 A 130,494
(B=)T2HH 2 SXEFX(E) 2,624,142 2,627,742 A3,600
201 LEt2 A H| 22,405 26,005 23,600
02 B2 ZH| 10,918 14,518 23,600
Gy r=1 8,400 12,000 A 3,600
OZ 22| CCTVald At22(Z &= CCTV)
8,400,000 8,400 12,000 A 3,600
(BFE)XSGHLAI(E) 1,058,379 898,379 160,000
(= 795,100 745,100 50,000
i 110,000 0 110,000
Al 153,279 153,279 0
401 Al Y2 20| 1,058,379 898,379 160,000
(= 795,100 745,100 50,000
X 110,000 0 110,000
Al 153,279 153,279 0
01 A& H| 1,052,600 892,600 160,000
OARZAIAE XML AS 325,000 215,000 110,000
O240 S22 s EEZA
20,000,000 20,000 0 20,000
b\ 20,000 0 20,000
OEUE Bos B2 T A 30,000,000 30,000 0 30,000
X 30,000 0 30,000
OXNEE S2ZEZA 30,000,000 30,000 0 30,000
X 30,000 0 30,000
OAMUIS Hel Ex2AHEUSs)
30,000,000 30,000 0 30,000
b\l 30,000 0 30,000
OARZ ZRAIE HEAMY 90,000 40,000 50,000
O M2 &&27 0222 HHISA
20,000,000 20,000 20,000
(= 20,000 20,000
OdAN2s &2 SYHEX SA
20,000,000 20,000 20,000
(= 20,000 20,000
OnEs 202 =2 & Y HHIZ2A
10,000,000 10,000 0 10,000




SN EYT AMDED
B NARELHAS CAIIUEL
el ceae (ol @)
SN HB S (3H) - NPAY - BAES O Ak o8 w/E-F HREZ
| = 10,000 0 10,000
(B=:)A2742 XY JRI| ALH(E) 414,527 419,527 25,000
401 Al HIZ 201 I 414,527 419,527 A5,000
01 A& HI 411,800 416,800 A5,000
OIHS 1579-1 ORI0IBY HSAIL & (=
NeE) 0 0 5,000 A5,000
(EF)DEANEE & 52 RAUER(E) 1,066,349 1,072,349 A 6,000
201 ¢er24| 44,420 57,420 A 13,000
02 =24l 44,420 57,420 A 13,000
oXIIRS 14,000 24,000 210,000
OXlotXtE 3,000,000& 3,000 6,000 A 3,000
Odtz=+Z |1 3,200,000& 3,200 7,200 A 4,000
Olisu 2,600,000 2,600 3,600 A 1,000
SEH+-EZE 2,600,000& 2,600 3,600 1,000
OusSti+=EZF 2,600,000 2,600 3,600 A 1,000
OsZJl KXY 20,100 23,100 A 3,000
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01 At 22l 10,848 16,742 A5,894
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HEE JtzEd & =32 &3 1,332,116 1,338,116 A 6,000
2 2o sX2el 1,332,116 1,338,116 A 6,000
(F=)Jt22etsS 22 (8) 1,129,650 1,135,650 A 6,000
201 et 909,890 915,890 A 6,000
02 23=2gHl 880,080 886,080 26,000
OJz=Eers HIIR=S 870,000 876,000 A 6,000
ozs 486,000,000 486,000 492,000 A 6,000




FN: BER LS
H: WYL (SET ALD)
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SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE

HH2IAZH(EL R HED) 99,504 101,804 A 2,300
Jl= &l 31,051 33,351 A 2,300
(E=F)J123d1(8) 31,051 33,351 A 2,300
201 £Br2%| 19,831 22,131 A 2,300
02 =24l 10,475 12,775 A 2,300
O4dHE CAD 228 7Y 7,700,000 7,700 10,000 A 2,300
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